Richelieu

GLAZING SUDPDLIES

Large Round Glass Clamp for a Round Surface Mounting

Code No.: SSGC203XX16 & SSGC203XXZ

—~ 62.8[2.47"] ——=

\ ' 28.0[1.10"]
45.0 [1.77"]
17.0[0.67"] —=—m
- ——20.0 [0.79"]
/\_/

Notes: I

[ Top View ] [ Glass Cut out ]
38.2 [1.50"] —— 31.0[1.22"]
\\ ( | T ©12.0 [$0.47"]
) 300[1.18' D
/ \ ] i 34.0 [1.34"]
6424 (61.67"] —=  =—Pin Size: ¥8.0[0.31"]
Flow drilled/tapped
SS Socket Cap Screw M8x20mm
Flat Head Screw [ ltems included in the box ]
M6x16
12.0 [0.47"]
BT 3
; '% N
8.5[0.33"] C‘) Rubber
f J ﬂﬁ gaskets
:_,—L@ Qy ordered
I — separately

posts through flow drilled/M8 tapped holes.

 Safety pins must be installed to prevent glass sliding over time.
* Hex socket machine screws M8x20 used to secure the glass clip to the

based on glass
thickness

Pz
ﬁ?f Glass Clamps X4 () Plastic cap X8 % Safety Pin X4

Version —12.12.23



Richelieu

PRODUITS VERRIERS

Pince a verre, large, pour montage sur poteaux ronds

Code No.: SSGC203XX16 & SSGC203XXZ

—~ 62.8[2.47"] ——=

' 28.0[1.10"]
45.0 [1.77"]
17.0[0.67"] —=—m
- ——20.0 [0.79"]
/\_/

Notes: l

[ Vue du dessus

@42.4 [$1.67"]

] [ Découpe du verre ]
38.2 [1.50"] 31.0 [1.22"]
\\ | | T ©12.0 [$0.47"]
/ \ ] i 34.0[1.34"]
—— Taille de la goupille:
?¥8.0[0.31"]
Débit perforé/percé
SS Vis a téte creuse M8x20mm
Vis & téte plate [ Articles inclus dans la boite ]

M6x16
12.0 [0.47"]
] | 3
i % >/
8.5 [0.33"] C‘) J
} (D
| :—l_L B pa

(

« Des goupilles de sécurité doivent étre installées pour éviter que le verre ne glisse

avec le temps.

 Vis mécaniques a six pans creux M8x20 utilisées pour fixer le clip de la vitre.

f?/ly Pince a verre O

ﬁ

( carrée X4

Joints en
caoutchouc a
commander
séparément
en fonction de
l'épaisseur du verre

Couvercle en %

plastique X8

Goupille de
sécurité X4

Version —12.12.23



	Diapositive numéro 1
	Diapositive numéro 2

